PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
29th July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

India’s territorial waters extend into the sea to a distance of nautical miles from the coast baseline. / HIRd

@B T i ae aMURYA A __ Aifewa ta B gt 7o wus A R 2
* 150
* 30
°* 12
* 75
Correct Answer :-12
2)
Question Stimulus :-

Hoshang Shah’s Tomb is located at_.fa'?m TG PT HheRT _ﬁ Ra %I
¢ Mandu/ 'FI'IT§"
® Rajgarh /IS
* Asirgarh / 3RIRTG
® Raisen /AT

Correct Answer :-Mandu / Hig

3)
Question Stimulus :-

RBI was nationalised in JHRAr o de o1 F wdaeor far
* 1959
* 1947

® 1945

()



® 1949
Correct Answer :-1949
4)
Question Stimulus :-

91.27% of total area of is covered with forest, which is the highest in India. / _ %W ATHE BT

91.27% T 8, Wl WA | Aa™ ST g
® Tamil Nadu / ?T&W‘Fﬂg
® Mizoram / ForeniRHT
e Uttar Pradesh / 3% Wo=T

® Maharashtra / TI?'RTg

Correct Answer :-Mizoram / SR

5)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea ﬂﬁl’({,\?ﬁ qTB B E'f@'
GEICErEE I e E

"If today is Sunday, Matt cannot play hockey"? / “3[R 3ITSl AR g, a1 A< gia! 78 I
ghdr?

Today is Sunday and Matt can play hockey. / 3iIs YA § 3R Ac gl Wd godT gl

If Matt plays hockey, then today is not Sunday. / 3R A< gl QadT g, a1 3T IfIaR )
|

Today is Sunday and Matt cannot play hockey. / 35l IfdaR g iR e g 781 @9
&l gl

Today is not Sunday if and only if Matt plays hockey. / 3T Ifaar & § afe ok Rk
afe fc giat W gl

Correct Answer :-If Matt plays hockey, then today is not Sunday. /Wﬁ‘c’%“l’?ﬁ'@ﬂﬂ%,
ot 3 XfaaR T B

6)

Question Stimulus :-

@)



Across which river of Madhya Pradesh is the Gandhi Sagar built? / T U= $1 fHa Tt W Wi IR
T 4T 82

® Barana / IRTAI

® Narmada / T'I'Ff_c'.T

® Chambal / ddd

® None of the above / SR El'ﬂé ot -'-I'éT
Correct Answer :-Chambal / ddd
7)

Question Stimulus :-

Who proposed the drain of wealth theory? / Y- e &1 Rigia feam warfaa feare
e Dadabhai Naoroji / GIGTHTS RISt
* Bal Gangadhar Tilak / T8 TR foaa®
® A.O Hume /E\"rﬁiq-q
® JL Nehru /S Td 9g&

Correct Answer :-Dadabhai Naoroji / GIGIHTS TRISIt

8)
Question Stimulus :-

How many numbers are immediately preceded by a letter but not followed by a symbol in

the following sequence? / 9 3g®d #, fra-t RN WEt § vrd e uga e e 3mar 7, dfdb
& aTg TP Ui Tl ATl 82

TIN@EZL>2de* H4&KPI?4#Y#YSR7W5G6SPI?G6h4$PI?H#YSR7WBS<+2Q34Y7A
e 6
e 8
e 5
o« 7
Correct Answer :-8
9)
(4)



Question Stimulus :-

Army War College is locatedin____ / 3MHIdR ®iasl _ # fR@@ 81
e Bhopal / HIUTH
® Morar / IR
® Mhow / UE
e Pachmarhi / TIHG!
Correct Answer :-Mhow / Hg
10)

Question Stimulus :-

After every general election which house(s) of the Parliament is (are) reconstituted? / g 3TH W%WW

& forer W& (el o1 Gefoe gielT &2

® Rajya Sabha / ITSUHHT

* Lok Sabha / € THT

® Both Houses of Parliament / m %ﬁ daH

® None because both the Houses have some nominees / aﬁé qﬁ FHife ﬂ:ﬁ '\‘lE:ﬁ :g PO CHEG] Hoy ﬁ% %
Correct Answer :-Lok Sabha / @® HHT
11)

Question Stimulus :-

This Person was responsible for producing the first man-made gene in his laboratory and he was

awarded a Nobel Prize for the same. / wwﬁrmmﬁﬁuﬁmwﬁrﬁhﬁﬁqﬁﬁm
% Y STRerl o1 U9 ST & Y 95 Aied R&pR I Jw1i-d fHar m@r ar)

® Shanti S Bhatnagar / Thifa T HSATR

® Har Gobind Khorana / B3 Tﬁ'ﬁ?{ WRTT

® Subramanyam Chandrashekar / IgI0IH USRI
® Shakuntala Devi / RIPp~dcll et

Correct Answer :-Har Gobind Khorana / B Mfde WRMET

12)
(5)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg§ Ty ?ﬁrq,vﬁ qH DI T
AT T MU HE S I 7 :

If Kamal likes singing, then he doesn’t like dancing. / 3R FHA B AT THTQ'%, a1 39
ATRHT T T8l 21

e If Kamal likes dancing, then he likes singing. / 3R HHA I AT Q'H-_dé, a3 AT
T &

e If Kamal likes dancing, then he doesn’t like singing. / SR HH P T m%, a
I T W< 8L 7l

e If Kamal doesn't like singing, then he doesn’t like dancing. / 3R FHA DI T T0<
T8 8, Y ¥ A TE T8 2

e If Kamal doesn‘t like singing, then he likes dancing. / 3R $Hd $! TN TI< &l §, @
I AT U B

Correct Answer :-If Kamal likes dancing, then he doesn’t like singing. / S IR HUA DI
AT UGS 8, a1 39 T TS 78t 2

13)
Question Stimulus :-

The first capital city of Chandelas was " ﬂaﬁ | tl_b'?ﬂ' TSTTHT &
* Ujjain/ ST
® Mahoba/ HEIaT
® Khajuraho/ Eﬁ?'l’saf

® Chanderi/ ilé-\pf

Correct Answer :-Khajuraho/ GSRTg!

14)
Question Stimulus :-

Who established the Gupta dynasty? / JTIT ITSTaRT B RITYAT fovaq ot 42

® Chandragupta I / -1l 1

¢ Chandra Gupta Vikramaditya / I=&I[Wl ICER T

(6)



® Ramgupta / ITHIW

® SriGupta /St RIS
Correct Answer :-Sri Gupta / Y &1
15)

Question Stimulus :-

Anitha, Mahima, Rajan, Latha and Deepti are five cousins. Anitha is twice as old as
Mahima. Rajan is half the age of Mahima. Anitha is half the age of Deepti and Rajan is

twice the age of Latha. / 3if<r, AT, IS, @41 3 Studt urg 9=t 94 81 Srf=r, afgar ¥ 39 o
g\‘l’ﬁa@%lWﬁ@ﬂ%mﬁmﬂ’r%mﬁmﬁwzﬁu‘cﬁﬁamﬁ%eﬁ?wﬁwamﬁaﬁw
|

If Mahima is 16 years old, then what is the age of Latha? / 3R AfgdT 16 ITA BI %, ar aur
Dt Y fopat grit?

® 4vyears / 49ld
® S5years /59
e 7years / 7 ¥Hld
* 14 years / 14 HTd

Correct Answer :-4 years / 4 Idld

16)
Question Stimulus :-

Punjab is famous for this dance form / USITd 3 I AH F ﬁq RIS %:

® Garbha / TRdT

® Jhumar / SHY

® Ghumar / g

® Bhangra / HTSIT
Correct Answer :-Bhangra / HIST
17)

Question Stimulus :-

1. In a family of six persons, there are people from three generations. Each person has
separate profession and also they like different colours. There are two couples in the

(7)



family. / ©: @ & T URAR & @1 9 difeal A &1 8% T &1 Iaag 3T g 3R 32 3felT [ UHe &1 98l
IRaIR | g1 g § 1

2. Rohan is a CA and his wife neither is a doctor nor likes green colour. / 89 Gd] AWHR &
3R ITB! Ul 7 Slaex 8 71 3 o ¥ U¥G &1

3. Engineer likes red colour and his wife is a teacher. / 3fYTdT ) 87 M UHE § 3R ITPT Ul
Rrer® 31

4. Mohini is mother-in-law of Sunitha and she likes orange colour. / rﬁ%ﬁ’rwﬁmﬁ g % 3R
I TR {1 yE gl

5. Vinod is grandfather of Tanamy and Tanmay, who is a principal, likes black colour. /

faiie a9g & <rer & 3R a99Y S YRR 8, 39 STdl 37 WNE 2

6. Nanu, granddaughter of Mohini and she likes blue colour. / Tifg=ft # At 1 8 3R 39 e
A1 NG 7

7. Nanu’s mother likes white colour. / T ¥ Ul &I Tbg { UHS 1

Who is Engineer? / 3if3ddr &9 82
* Nanu /1]
e Mohini / Hifgsit
e Sunita / gl
® None of these / sﬂ'ﬁ'\eﬁﬁ'ﬁ:?ﬁ

Correct Answer :-None of these / 398 ¥ ®Is gl

18)
Question Stimulus :-

Where do we find the Baiga tribes predominantly? / CUIRCEENGE] HOI =7 I W’f firad %?

® Vindhya and Satpura region / e ok HdYsT ax

e Ujjain and Jabalpur districts / I 3R SEGEG fora
® Umaria and Mandi districts / SHINTT Gﬁ'\" w3l fora

® Mandala and Balaghat districts / HSdl 3T grerare fora

Correct Answer :-Mandala and Balaghat districts / Hsdr iR STaTgre fora
19)

(8)



Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁl’E
wil fioT T HY=T wd Fremul & R & 9E 81

Statements: / DYH:
All stars are satellites / mﬂﬁaﬁm %

Some satellites are planets / $% 3Udg Ug %

Conclusions: / fAmd:
I. Some planets are stars / I. $9 Ug R g

II. All satellites are planets / II. It STE U %
® Only conclusion | follows / hﬁ forepd 1 Freaan %
® Only conclusion Il foIIows/W e 1 e %
® Both conclusion land Il foIIows/E-'\Tﬁ' ey 1 Gﬁ?’ I1 e %
® None of the conclusion | or Il follows / e r1ar s 9 El'ﬁé' T'Iﬁ IGEASGI %
Correct Answer :=-None of the conclusion | or Il follows / frepd 197 11 ® @ Ebllg T-I'éBI Fredar %

20)
Question Stimulus :-

Who received the Jnanpith award in 2015? / 2015 # {die YRIDPIY s feam mar are
* Bhalchandra Nemade / HTGA% "HTS
» Raghuveer Chaudhari / gdR 9isdt
® Rajendra Shah/ Toi% XM
® Chandrashekhara Kambara/ a-—s{ﬂw HeaR

Correct Answer :-Raghuveer Chaudhari / IgdiR =est

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope T;{ﬁ'Q
St 3T T Sy wd el $ 9v § 98 B

Statements: / YH:

©)



All friends of mine are talkative / ﬁ%ﬁﬂ-ﬁawa’l?fﬁ %
Swapna is not talkative / JUT 91T 81 @
Conclusions: / fAemd:

I. Swapna is not my friend / I. %W A3 &9 781 &

II. Swapna must speak / II. ¥UT %1 ST I1RT
® Only conclusion | follows / W ﬁW& I e %
® Only conclusion Il follows /W fored 1) Freaar %
® Both conclusion l and Il foIIows/Eﬂzﬁ' faepd 1 38iiv 11 e %’
® None of the conclusion | or Il follows / ﬁ'@'ﬁf IGTIIH ﬁ a?ré ::I%’f IBCASGI %

Correct Answer :-Only conclusion | follows / Faa ey I HPpadr %

22)
Question Stimulus :-

“Bahishkrit Bharat” was written by / "EI'%W YRd“___gRT INIECG %
® Aurobindo Ghosh / H?ﬁ?ﬂ 0y
* BR Ambedkar / § 3R SFESHT
* B G Tilak / dt St faes
® Annie Beasant /Q:ﬁ A<
Correct Answer :-B R Ambedkar / §1 3R 3FSH
23)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe ?{ﬁl’E{,Fﬁ qTD DI i
I feu e Y F TH |

If it is a festival, then we will wear new dress /WWW%, a’rsqwmqsﬁﬁ

e It is not a festival, so we won’t wear new dress / Ts’?tﬁ?l'\fﬂ'é’f %, ERFI'I%I'[{ TH T DhUST
T8 g
e We didn’t wear a new dress, so it is not a festival / 899 0T HYUST T8I UgT, SHIWT g

IR 781 §

(10)



e We wore a hew dress implies it is a festival / anﬁmn DPUST UgHl SHDT Hdddd %T{v’

R 3
e None of the above / B’@Tﬁrﬁ% Hﬁ

Correct Answer :-We didn't wear a new dress, so it is not a festival / gHA T HYST ol

UgHT, SHIUY U5 WK 6l §

24)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁl‘E
<t feT T HYT wd fArepul & aR § T8 2

Statements: / DY:

Most grains are nuts / WGl 3T W%
Some nuts are pulses / $9 Rﬂ'ﬂ'lﬁa'l?r ?
Conclusions: / e

I. Some pulses are nuts / I. $ aId GURI &

II. Some grains are pulses / II. $9 3T T 8
® Only conclusion | follows / W forepd 1 Freadan %
® Only conclusion Il follows /W foreed 1| fFreadn %
® Both conclusionland Il follows/atﬁ' ﬁlﬁlﬂf I Gﬁ? II ﬁwﬁ %’
® None of the conclusion | or Il follows / e rarIra g 'ﬂﬁg ?Eﬂ IECANGI %
Correct Answer :-None of the conclusion | or Il follows / ey 197 11 ® q aﬁ'&; -'-I'{?f IBEZSGI %’

25)
Question Stimulus :-

Who is also known as “The Nightingale of India”? / fpae! «yRa ifear & ara J Hi =T ST %?
® Lata Mangeshkar / €Idl TR
e Asha Bhonsle / 3TRIT HiTa
* Sarojini Naidu / GRITSTHI ATIg
® Vijayalaxmi Pandit / fasraast fga

(11)



Correct Answer :-Sarojini Naidu / GRITST ATIg

26)
Question Stimulus :-

Raj wants to become a member of a club. The various membership options are as follow: /
ISl TP FIG BT U HeH g1 d1edl ¢ | e ae=ar & fdowu 59 toR &@:

A - Initial payment: Rs. 10000, annual fee: Rs. 1000 / A - SRIYF YITdr-: 10000 '\W'&, CILED
Yeb: 1000 3T

B - Initial payment: Rs. 5000, Monthly fee: Rs. 100 / B - 3RfY$ YTaM: 5000 FUd, ARG
Y[eh: 100 I

C - Life time membership fee: Rs. 20000 (Includes membership for all family members) /

C - Sifaq IR TGl Yedb: 20000 A (URIR F Tt Texl & g wowar +ff =nfara 8)

Now Raj wants to extend his membership to 10 years. Which plan would be more suitable?

/ 3€ IS 10 T IF U] YSdl S T Aedl g1 of P W dierr 39F fore eiftre Iuged gifi?

e A

EitherAorC/ATIC

Correct Answer :-B

27)
Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / Tfe It 3R W 3B Pt ¥4 FI T A & T wics frar wrar 8, @t g o 4 9
P A fope o Bas oril R @ ™ wae & fawiq &2

0
Pl ¥al¥al
AN
i S0

(12)



s
A
HELAL

Correct Answer :- =

28)
Question Stimulus :-

If Monday means a cheerful day, and its Monday today, then it’s a lousy day today. / afe
AR BT Hded QGRET f §, 3R 3 HiHaR 8, 91 3 9gd W19 {1 81

* True / ﬂ%’f

* False / dd

e Maybe / E?f'\‘lﬁT %

e Irrelevant / MRS
Correct Answer :-False / Tcid
29)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Frafafad uy & e e $U A <) B a1 HY R ITF 918 9 T U e § § Ie Suge
3 IHH BT IIT P

1. College 2. Child 3. Salary 4. School 5. Employment.
1.9gdenad 2. 991 3. 9ad 4. 9T 5. AR

e 1,2,4,3,5
e 2,4,1,53
e 4,1,3,5,2

e 53,214

(13)



Correct Answer :-2,4,1,5,3

30)
Question Stimulus :-

Who was the first Chief Justice of India? / HIRd & YUH s =T S A2
® M. Patanjali Sastri / TH W =t
® Harilal J. Kania / 8RaTel & ST
e Mehr Chand Mahajan / HgR I¢ HgTeT
® B.K. Mukherjee / Cik:g Hﬁﬁﬁ
Correct Answer :-Harilal J. Kania / gRema ot S1fan
31)

Question Stimulus :-

What is related to ‘pint’ in the same way as ‘inch’ is related to ‘centimeter’? / o e e’ et % AdHiew
¥, S 7R ¥ fie’ A w7 Tl 82

e Gallon / Ta

 Litre / Wex

® Weight / duiH

e Volume / 3R
Correct Answer :-Gallon / &
32)

Question Stimulus :-

Shirish is taller than Ashutosh, Raju is taller than Charu but shorter than Balu. Ashutosh
is shorter than Charu. Charu is taller than Shirish. Who is the tallest? / RRIY 33y &
9T €, IO I § 99T @ W 9T A Biel 31 AMRYEY I 9§ SIel g1 = RRIY a1 81 999 |61 S
4

e Shirish /RRIY
e Bala /dTdl

e Raju /Ty

(14)



e Ashutosh / 3MR@AIY

Correct Answer :-Bala /dTdl

33)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, 'Clﬂa o tl?ff ¥ g foadt
TR A $is Gay g| 7 fawea d I =@rar ug g+ foraer Sy ug & 91y S UeR &1 69 7|

Ocean : Pond :: Stream : ? / IR : dTAId :: YIRT = ?
® River / E |
® Shallow / 3Ycil
® Canal / g}
® (Clean / HIW
Correct Answer :-River / 9t
34)

Question Stimulus :-

B is the brother of A whose son is the brother of D. If C and D are sisters, how is B related to C? / B, A &I ‘HT&; %’

T 71 D &7 WIS 8] 9fY € T D 96 §, B 69 TR ¢ | Wefia 82
Father/ﬁ?‘IT

Uncle / =T

Grandfather / GIql

Brother / ‘HT&F

Correct Answer :=Uncle / =T

35)
Question Stimulus :-

The acid that is used in batteries used in automobiles is /\_rﬁ 3 'Fﬁ??a'ﬁa?'\ﬁ ﬁmﬂ‘n%m SITdT %
® Ascorbic acid /Wm 3T

® Acetic acid / RIR®T 3t

(15)



® Nitric acid /ms'lifaa ST
® Sulphuric acid /WW

Correct Answer :-Sulphuric acid / SERIN® 3T

36)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / g uy ﬁ, ¥ Ve ﬁ'ef
T g, o § = ol vor O w1 § 3R 91961 U 3elT 8| 3ICRT 9Tl JTd SIo/ |

e Rajesh / oI
e Ajay / 3ol
e Vijay / fasa
¢ Sandhya / 9T
Correct Answer :-Sandhya / €7

37)

Question Stimulus :-

The Karakoram Pass links / PIRTDIRH ETf w %:
® Afghanistan and Pakistan / SBIMRAT 3R urfehar
e China and Pakistan / ST 3} UTfehara
® China and India/ 99 iR YRA
® Afghanistan and Iran / MBI RAT 3R g?'l:l

Correct Answer :-China and India / 919 3R YR

38)
Question Stimulus :-

Identify the odd one out. / IELE tl%ﬂﬁ )

® Kalpakkam / hcldahH

® Kundakulam / PSAPTH

(16)



« Dabhol / 4@
° Trombay/gﬂﬁ

Correct Answer :-Dabhol / LTS

39)
Question Stimulus :-

How many times ‘E’ exceeds 'R’ in the word, ‘EXERCRATE’? / ‘EXERCRATE’ s e I
fPaq ¥ 'R’ T 3ifte 82

Correct Answer :-1

40)
Question Stimulus :-

A farmer grows 4 crops— A, B, C and D, not necessarily every crop in every year. A is grown between the months Jan-
May, B between April — July, C between June —October and D between September-January. Each crop takes 3 months

from sowing to harvesting. At a time only crop can be grown. /WWWWW% A B, C 3R D, |
TR el D1 TR Bd d) 8% 9¥ ST A TaT -A5 & a9 T ST Wrell §, B 30d - AT |, ¢ 7 -AFgar
3R p RyawR oMt § | T Bod gars I Hels § 3 7 Adt ¢ 1 T IR | Rt T v a 35 o 9« 8l

If the farmer wants to sow B in the month april, when is the latest crop A should be sown? / ‘T%mﬁ Graﬁﬂﬁﬁﬁ

BT TSI §, dl TAHaH BHA A $1 JdTs $a B ST TfT?
® February / BRER!
* March / AT
® January / SIFTERY
* May/WS

Correct Answer :-January / SIFG31

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

(17)



What is the minimum number of straight lines required to make the following

figure? / 9 el &t T M & ford *aw e d feadt Wt Yarei o1 smazasmar gifi?

NS
//

/ v

° 12

e 11
Correct Answer :-10
2)

Question Stimulus :-

The average of 12 numbers is x. What is the average if each of the number increases by 4?

/ 12 G &1 3N x ] Al vl I 4 | 96 o[ ol g «r e
® x+8
* x+4
* x+16
® x+2
Correct Answer :-x+4
3)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁlﬁ J= TP g ﬁw ﬁﬁﬂ! :

2,3,5, ;17,33

® 9

(18)



® 256

® 352

® 456
Correct Answer :-9
4)

Question Stimulus :-

If 6A51+7B50~-A95 = 138D6 Where A, B and D are representing different numerals; find the value of ‘D’? / e
6A51+7B50-A95 = 138D6 g1 A, B 3% b faflrer Teri §; @Y ‘0’ T W T §NI?

5

0

° 4
Correct Answer :-0
5)

Question Stimulus :-

An article was brought for Rs. 250 and sold at a loss of 5%. What is its selling Price? / U d¥] 250 I H
TR T 3R 5% BT JPI W 99 &1 T 1 3T [T oa T 82

® Rs.237.50/ =04 237.50
® Rs.238.50 / ¥UU 238.50
® Rs.239.50/¥FUU 239.50

® None of these / ET-I'eI I aﬁ'{' T-FE?fl

Correct Answer :-Rs.237.50 / 349U 237.50

6)
Question Stimulus :-

A car moves at a speed of 45 km/hr, reaches its destination on time. When its average
speed becomes 40 km/hr then it reaches the destination 30 minutes late. Find the

distance?/ T% &R 45 feii/ger &) 7fa A gadl 2, 3R I99 W 3UH s 9% Ugdal g1 oid S9P!
3ita fa 40 et/ der gt oIt 8, a9 98 Tias a® 30 e 31 A ugadl 31 g 9| B2

(19)



200 km/ 200 fopt

240 km/ 240 f&d

180 km/ 180 &l

150 km/ 150 f&HY

Correct Answer :-180 km/ 180 &t

7)
Question Stimulus :-

In the sequence shown below, which figure comes next? / g fR@® T w49 & 3FTe!
Tpfa BT I grit?

2] F ®ed L 1 1% e
200 |(TeC| |eee| |eee
L] B o0 6 iel 1 dE®

TIE
eDd
268

8@
L2 1
PO

89
a1l
*eed

=l 1
*as
L 1%

el 1
La ]
*ed

Correct Answer :-

8)

Question Stimulus :-

(20)



Three unbiased coins are tossed. What is the probability of getting all the tails? / o e e B G’Iﬁ%l gitw e
3T BT HUTTT T 2

* 1/8

° 1/4

° 1/2

* 7/8
Correct Answer :-1/8
9)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ@a &R JIHR SRadT B PRl ﬁﬁm : abca _bcaab _aa_caa_

ca
® bbac
® bbaa
® acbb

® acac

Correct Answer :-acbb

10)
Question Stimulus :-
Complete the series choosing the missing number: / AW IBAT FABHR SGaT B TR BT :

8,10, 14, 18, ; 34, 50
® 24
® 25
® 26
* 27

Correct Answer :-26

11)

(21)



Question Stimulus :-

A can finish a work in 18 days and B can do the same in 15 days. B worked for 12 days and left the job. In how many
days A alone can finish the remaining work? / A U &H o1 18 el & R PR o dl 2 3R B S 1 FI 15
e o HR gwar 21 B 7 12 371 & forw & foban iR o1 Bis &= TaT1 1l 92 §U HH $I A 3bd frad

o1l o W1 = g 82

(5 )
(WO -
(5]
| o=

fea

. days /

o

days / 3

L
| b
| s

(¥ ]
Il

3
days / 3 = &=

) )

3

| e

days / 3

| e

3
3 —days /3
2

[T Ve

Correct Answer :-

12)
Question Stimulus :-

If FIND is represented as HKPF then, LOVE is represented as / gfe FIND &1 HKPF ¥ S=1dT 131
g @, LOVE &I T SxIiar SR

« MPUF
 JNUD
® NQXG

« WLER

Correct Answer :-NQXG

13)
Question Stimulus :-

CANCELLED

If CLASSIFIEDS is coded as CLSFD, what is ADVERTISEMENTS coded as? / gfe
CLASSIFIEDS %I CLSFD d $If&d {41 5T 8, i ADVERTISEMENTS & &4 ®ifed fbar Smanm?

(22)



DVRTSMINTS

DVRTSMNS

DVTRSMNS

DVRTSMN

Correct Answer :-DVRTSMN
14)

Question Stimulus :-

In a certain code language, mep zap dup means lunch and dinner, pep mep tep
means hot and cold, clep tep nep means very hot summer. Which is the word
for cold in that code language? / f&ft W s YT §, mep zap dup &1 Haad & lunch and
dinner, pep mep tep &1 Hddd % hot and cold, clep tep nep I Hddd % very hot summer | 34t

WWﬁcoldasﬁl'EWW%?
® pep
® mep
® fep
® clep
Correct Answer :-pep
15)

Question Stimulus :-

The sum of two numbers is 20 and the difference between them is 2 what is the ratio of the

two numbers? / & TBI3HT BT AT 20 § 3R 3P S BT 3fcR 2 €, g1 TBATAT BT FUTd T 32
* 59
e 10,11
* 11,9
® None / BIg &I

Correct Answer :-11,9

16)
Question Stimulus :-

(23)



The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / & & T sRaer ieRl T TSN BT IHH WANT HR! 8| Tod A yga=d|

(i) C2345CXD2
(ii) CZ345CXD2
(iii) CZ345CXD2

(iv) CZ235CXD2

® jv
Correct Answer :-iv
17)

Question Stimulus :-

How many different ten letter words can be formed using the letters of the word ‘ATTENDANCE’ if repetition is not allowed?
/ e TRigic Srgfira =181 8, 99 ‘ATTENDANCE’ ¥eg & 31&RI T WART $R o 31eR & fha- AT g 79
TPHd B2

® 1814400

® 907200

® 226800

® 453600

Correct Answer :-226800

18)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ S[&R gAB G I QA aﬁﬁm tbc_b_c_b_ccbh
® chcb
® bbcbh

® cbhc
(24)



® pbcbe
Correct Answer :=cbcb

19)

Question Stimulus :-

2 5 227 22 7 2.3
Subtract roa from the sum of > & 12 / > 3R 12 F AT A QO LHELY
® 5
° 3
)
LA |

Correct Answer :-2

20)

Question Stimulus :-
How much should be added to 12p2 to make it 18p2? / 18p2 &M & fI€ 12p2 # =T SisT

qMeT?

. 5p2
e 8p2
o 7p2
e 4p2

Correct Answer :-6p2

21)

Question Stimulus :-

Ravi brought toys for 800 & sold them at 750.What is percentage profit or loss? / 3fa 800 _™UY CATCRIE]

AT 3R 38 750 TUT N I faun, &y a1 g1 ufa=a = g2
* 6.25%
® 7.25%

(25)



® 8.25%
® None of these / 3TH ® I PIs 8l
Correct Answer :-6.25%

22)

Question Stimulus :-

In a certain code language, ise sep vaz means drink hot coffee, ezy vaz kam means hot air
balloon, seg ezy poz means blow cold air. Which is the word for balloon in that code
language? / {53l @ IS YT &, ise sep vaz 1 AdAd ¢ drink hot coffee, ezy vaz kam &1 Addq
® hot air balloon, seg ezy poz &1 Hddd & blow cold air | 34! s U § balloon ¥ o€ =1 T

2
° ¢z
® kam
® poz
® sep
Correct Answer :-kam
23)
Question Stimulus :-

In a certain code language, pada wada sada means good looking girl, saj sana
sada means looking for you, deka saj ren means for all students. Which is the
word for you in that code language? / {3 @9 $Is U #, pada wada sada &1 Hdad &
good looking girl, saj sana sada &1 Hddd % looking for you, deka saj ren &1 Hddd % for all
students | I B8 U H you & fore a7 31 82

® saj

® sana

® sada

® deka
Correct Answer :-sana
24)

Question Stimulus :-

(26)



A man travels a certain distance at a speed of 40 km / hr and returns by increasing his speed by 50% what is his average

speed for the whole journey?/ Udh 3T 7 40 %ﬁ/ﬂaaﬂwﬁrﬁwﬁfﬁﬂgﬂaﬂaﬁaﬁvw 3q= T BT 50%
FeTd gU I109 dieT O3t I & g 3@ sitwa wfa s gifte

e 50 km/hr / 50 fopHi/Eer
e 46 km/hr / 46 TopHt/deT
e 48km / hr/ 48 fordi/ger
* 52 km/hr /52 fpHli/Eer

Correct Answer :-48 km / hr / 48 T&HI/der

25)
Question Stimulus :-
A student has to obtain 35% of the total marks to pass. He got 153 marks and failed by 22 marks. The maximum marks are/
TH B DI SV g & T 35% Fa 3P U H3+ 31 SAP1 153 3P YT §U 3R a5 22 S I S=iol
1 SHfHan 3 §

®* 500

® 600

® 1000

® 400

Correct Answer :-1000

26)

Question Stimulus :-

Three unbiased coins are tossed. What is the probability of getting one head? / a4 ﬁm&‘[ﬁlﬁ T Tr"%%l 1% fIe am
B UG T 82

°* 1/2
° 1/4
* 3/8
® 1/8
Correct Answer :-3/8

27)

(27)



Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ a1 e T AR vl § @ R R A 13 F Sl auE 914 91 Ue 81 82
Prashanth Kharvi

Ul. Block 2/3

81-116 GDYNIA

INDIA

(i) Prashanth Kharvi
Ul. Block 2/3
81-116 GDYNIA

INDIA

(ii) Prashanth Kharvi
Ul. Block 2/3
81-116 GDYNIA

INDIA

(iii) Prashanth Kharvi
Ul. Block 2/3
81-116 GDYNIA

INDIA

(iv) Prashanth Kharvi
Ul. Black 2/3
81-116 GDYNIA

INDIA

(28)



® ii

® jv
Correct Answer :-iv
28)

Question Stimulus :-

(24x2)/3+(64/8)x7-(40/5)x0)=?
e 72
°* 75
e 79
° 82
Correct Answer :-72
29)

Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / N9 vy ¥, G=I 491 A TP US TAd g TAd U I BIOA|

8,13,21,32,47,63

° 47

* 63

e 21

® 13
Correct Answer :-47
30)

Question Stimulus :-

A student multiplied a number by 3/5 instead of 5/3. What is the percentage error in the calculation?/ U D G| U

=T ®1 5/3 & a9 3/5 A 7o fwar| ToMEr § wfa=rddr 3¢ a1 82
* 34%

° 44%
(29)



® 54%
* 64%
Correct Answer :-64%

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

Following table shows the Aluminium production in India (in ‘000 tonnes) by the top-five companies from the year
1998-99 to 2003-04. Answer the following questions using the information provided. / R & W arfereT af 1998-

99 ¥ 2003-04 dF YRd 3t AW-uia Uil gRT TG IdTe (‘000 &) Hi feamdt 31 &t Wit IR &
YR TR U3t & W S

Company/ s+l | 1993.00 | 2000-01 | 2001-02 | 2002-03 | 2003-04
Hindalco igste®r | 251 253 263 266 323
Nalco / Ao 213 230 232 245 2983
Indal / gwsTer 43 44 44 50 G5
Balco / Grewr a5 87 70 96 97
Malco / ST 19 29 29 | 33

Which company exhibited the highest percentage increase in the production of aluminium from the year 1999-00 to 2003-

04? / &9 W Hut 3 9f 1999-00 T 2003-04 T TFATH & I § ware ufawra gfx &1 vzl
o

® Hindalco / féSTes!

® |ndal /SSTd
® Balco/ STeh!
® Malco /W
Correct Answer :-Malco / ATeH!
2)
Question Stimulus :-
The process of fusion of the male and female gametes is called / -} 3R Hial giHS & Tag_ I ufepar &1 hol

T §

(30)



e fertilization / A==

® reproduction / UsHq

® Pollination / TR

® seed formation / CIGKIGE]

Correct Answer :-fertilization / f==

3)

Question Stimulus :-

Following table shows the Aluminium production in India (in 000 tonnes) by the top-five companies from the year
1998-99 to 2003-04. Answer the following questions using the information provided. / CiE| & WAt arfereT af 1998-

99 ¥ 2003-04 % YRd & Md-uiw Hufral grT TGAFT Idre (‘000 o) & R 81 § i SHe™ &

YR TR U & SR S
Company/ =T | 1999.00 | 2000-01 | 2001-02 | 200203 | 2003-04
Hindalco AgsTes®l | 251 253 263 266 323
MNalco / ATe® 213 230 232 245 293
Indal /Fester 43 44 44 50 65
Balcg / aTewr 95 87 7a 96 97
Walco / Tesr 19 29 29 31 33

Which company exhibited the lowest percentage increase in the production of aluminium from the year 1999-00 to

2003-04? / B9 At HUN A 7§ 1999-00 | 2003-04 9% TYAFEH & Iaue # Tad F ufozme gfS &1 wexl=

fear

® |ndal /SSId

® Hindalco / fgSTem!

® Balco/ STep!
® Malco / HTeh

Correct Answer :-Balco / Sieh!

4)

Question Stimulus :-

(31)




In human beings, an ovum is released from the ovary / AWl ¥, 3SRMA ¥ 3T
Hifed g 8

¢ Once a week / mﬁ'ww

e Once a month / HglH # T& IR

e Once in six weeks / ww@rﬁww

e Once a year / wﬁwaﬂ
Correct Answer :-Once a month / ﬂéﬁfﬁ'w dR
5)

Question Stimulus :-

A and B are two alloys of gold and copper prepared by mixing metals in the
ratio 7 : 2 and 7 : 11, respectively. If equal quantities of the alloys are melted
to form a third alloy C, the ratio of gold and copper in C will be: / T Tdq drdr

YTl P frerse

7:2Td 7:11F U d HH: A TI B Gl fyTg R 75 w1 af fiymg ¢ s & Riw
3 oI fyrgsii & Ia™ Srgura d fradrr WY, 99 ¢ ¥ 99 Ud did &7 3uTd gIv:

Correct Answer :-7:5

6)
Question Stimulus :-

A woman’s voice is much higher in pitch than a man’s voice because women’s vocal cords are about / Hfgar

Dt STaTe g o STt BT JaTS & F ST gIdl § Tl AGAT BT YT U Fa- it &

e 2.5cm & 2.75 cm / 2.5 99t 3R 2.75 I

1.75cm & 2.5 cm / 1.75 99 3R 2.5 I+t

1.25cm & 1.75 cm / 1.25 THI 3R 1.75 It

e 1.0cm&1.25cm / 1.0 T 3R 1.25 It

(32)



Correct Answer :-1.25 cm & 1.75 cm / 1.25 99t 3R 1.75 T4t
7)
Question Stimulus :-

Following table shows the Aluminium production in India (in 000 tonnes) by the top-five companies from the year
1998-99 to 2003-04. Answer the following questions using the information provided. / = & wht arfeeT o 1998-

99 ¥ 2003-04 % YRd oI -ui Hufal grT TgfAfaw IareT (000 &) & fRamd 81 & T SHerR
STYR TR Uell & W S

Company/ &+ | 1999.00 | 2000-01 | 2001-02 | 200203 | 2003-04
Hindalco AgsTes®l | 251 253 263 266 323
Malco / Fe®T 213 230 232 245 293
Indal /$estet 43 44 44 50 65
Balcg / aTew®T 95 87 70 96 97
Walco / ATewr 19 29 29 31 33

In which year was the total yearly increase in production the highest? / frg af & Jdigd | Pd aiffe q@ qaq
e di?

® 1999-00
® 2001-02
® 2002-03
® 2003-04
Correct Answer :-2003-04
8)
Question Stimulus :-

If square root of 12 is 3:464, then the square root of 0-:00000012 is
/ i 12 FT TYH 3-464 7, 99 0-00000012 HT THA

gl

® 0-00003464

® 0-0003464

* 0-003464
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* 0-03464
Correct Answer :-0-0003464
9)
Question Stimulus :-

Normal range of breathing rate per minute in an average adult person at rest is, / fasmaTawT § Udh 3T U
fed o ufe fiee wia a9 3t 9= ufwr 8

e 9-12 times/9-12 dR

e 15-18 times / 15 - 18 dR

e 21 - 24 times / 15 - 18 dR

® 30-33times / 30-33 9}
Correct Answer :-15 - 18 times / 15 - 18 dRR
10)

Question Stimulus :-

The use of Delhi Metro for the purpose of commuting has helped in reducing the level of air pollution

I_:l%c%u%eitrunson /%ﬁﬁﬂ%#w%gm%mwﬁmmﬁﬁmﬁ%mwww

® Electricity / ﬁ'gq?f
® Coal / CAUGI

* Ppetrol / UCIE
® Diesel / Stora

Correct Answer :-Electricity / fagaa

11)

Question Stimulus :-

An Iron stand with a clamp attached is taken and threads of cotton, jute, wool and nylon of the same length are
suspended from it, one at a time. To the other end of the thread is attached a pan in which weights can be placed.

Weights are added one by one till the thread breaks. Which thread will not break easily? / Fﬁ%%éﬁgaﬁ\_{]’%

ﬁm%m&ﬁwmmwmaﬁw%wm%uﬁwwﬁm
Trm YRl & g RR & gasT et a1 Ry URT & 39T 3T I&dT1 81 YRI & T TP 5D
YRTT gex dF ST AT BT T YT AT A T8 g
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® Jute /UCHT
® Wool / 1
e Cotton / PUH
* Nylon / ATSQAIT
Correct Answer :-Nylon / T-IT?{GVT-'-I

12)
Question Stimulus :-

In lichens the two closely associated organisms which are benefitted from each other are /?ns#r t: i

el § affrfea st O =R arurf=a ga §
e Algae and protozoa / 9aTd 3R UTaS3
Algae and bacteria / ard 3% Sftary]

Algae and fungi / 2ard 3R ®a®

Algae and virus / a1 3ii¥ fauT]

Correct Answer :-Algae and fungi / Sare 3fR ®a®

13)
Question Stimulus :-

If a photo frame, rectangular in shape is 8 cm long and 6 cm wide, what should be the area of the

photographintheframe?/q'%wqﬁﬁﬁﬂfsﬁwéﬁ?s'\aﬁiﬁ@%?ﬁﬁﬂ?ﬁmﬁ
&Fwd fpaAr g1 ATfee?

e 48cm?/4.8Tw 2
e 140 cm? /140 I+ 2
o 48 cm? /48 At 2
o 128 cm?/128 ¥} 2
Correct Answer :-48 cm? / 48 GH} 2

14)

Question Stimulus :-
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Profit earned by selling an article for Rs. 1060 is 20% more than the loss incurred by
selling the article for Rs. 950. At what price should the article be sold to earn 20% profit?

/ T a3 B 1060 FUA F g TR Sifold d14 S& 950 U4l & 994 A giH a1dl g1 A 20% 31Ty g1
20% TTH 3ffStd B4 & oI avg &) fPaq Yea W o1 wIe?

® 1080
® 1800
® 1200
® 1280

Correct Answer :-1200

15)

Question Stimulus :-

Identify the parasitic plant from the following /TR?ﬂ'Cﬂ e B tl'eﬁl'lﬁ'q
e pitcher plant / gequif
e grape vine / 3R &I 9@
* cuscuta /3FREA
e money plant / 7+l Wie

Correct Answer :-cuscuta /GI'FRQH

16)
Question Stimulus :-
x —8x=+16=0

Find the difference between the roots of the quadratic equation / Teama giezor
x-—8x=16=0

¥ e & S iR PR

Correct Answer :-0
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17)

Question Stimulus :-

CANCELLED

Following table shows the Aluminium production in India (in ‘000 tonnes) by the top-five companies from the year
1998-99 to 2003-04. Answer the following questions using the information provided. / I & R arfereT af 1998-
99 ¥ 2003-04 % HRT @I MY-uia Huf~al gRT TIHAH IdTe (‘000 &) Fi feardt g1 & Wi SHeR &

YR W Ul & SW S|
Company! 9= | 1993.00 | 2000-01 | 2001-02 | 2002-03 | 2003-04
Hindalco fgste®r | 259 253 263 266 323
Malco / Alewr 213 230 232 245 298
Indal / 3wsTer 43 44 44 50 65
Balcg / aTe®T 95 87 70 96 97
Walgg / =Te® 19 29 29 31 33

Which company exhibited the highest increase in production (in ’000 tonnes) of aluminium from the year 1999-00 to

2003-04? / HI9 A HUT 7 af 1999-00 T 2003-04 dF VGHTTH F IS ('000 e #) § Jars ufawa gfx

P U= fhar
° Hindalco/%@'lﬁﬁ
® Nalco / ATeDI

® |ndal /SSId

® Balco / STepI

Correct Answer :-Nalco / ATeh!

18)

Question Stimulus :-

A pair of linear equations is said to have a unique solution, when both the lines representing the linear equations

. / T Ydg giteRer & g ¥ g ga uman o g, Si9 &g aHieon gt 38 o Y@

® intersect at one point / TP ﬁ'g '3 L'Iﬁ@? B %

® are parallel to one another / T W & iR Bl &

® are co-incident / HUT BIdt &

(37)




® are perpendicular to one another / T W & &g ﬁ?ﬁ %
Correct Answer :-intersect at one point / T& g TR ufawdg H=<t &
19)

Question Stimulus :-
A quadrilateral ABCD is drawn to circumscribe a circle. If AB = 4 cm. Ch =7
cm, BC = 3 cm, then find AD. / T&% gd &I 9T $31 & ¢ aguss ABCD &= wiran 3
afe AB = 4 T}, cD = 7 I, BC = 3 9l § 91 AD I HU

® 11cm / 11 .

® 18cm /18 THI.

® 10cm/ 109,

® 8cm/8qHl.

Correct Answer :-8cm /8 aHl.

20)
Question Stimulus :-

The mode of nutrition in which organisms take in nutrients in solution form from dead and decaying matter
is called / 90T ®1 a8 faur Rd sftg, ga ik erum= ugrdf & fywa= = v § 9ivor ugur #d &, Heard!
g

e Saprophytic nutrition / gasital Tiwor

e Parasitic nutrition / Tsitdl Tryor

* Holozoic nutrition / WTFORITHTSI TIooT

e Autotrophic nutrition / Tt Tiwor
Correct Answer :-Saprophytic nutrition / gasiiat Qoor
21)

Question Stimulus :-

Name the gas evolved during photosynthesis and is utilized by the living organisms for their survival? / 3

T T ITH JA1ST S UHT JIAUUT & SRT fapiid gidl g 3R Siifad sl gRT 3@ IuRsiiad &
fore wge & <t 82

* Nitrogen / Igclei

(38)



e Carbon dioxide / PT STS3HTFATSS
e Oxygen / TR
e Hydrogen /gTsSioH

Correct Answer :-Oxygen / 3TRie
22)
Question Stimulus :-

The area of the sector of angle 60° of a circle with radius 10 cm is ./10 a’l:ﬁ e ara qd ¥ 60° BV B

Ay o1 TP a ©

e 52 cm2

Correct Answer :-

23)
Question Stimulus :-

Following table shows the Aluminium production in India (in 000 tonnes) by the top-five companies from the year
1998-99 to 2003-04. Answer the following questions using the information provided. / IR & Wt arfeeT af 1998-

99 ¥ 2003-04 % YRd & M-uiw Hufrat grT YGAFT Iare (‘000 &) & R 81 § Tt S’ &
ATYR W uelf & IR Sl
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Company/ 9=l | 1993.00 | 2000-01 | 2001-02 | 200203 | 2003-04
Hindalco AZsTe®l | 251 253 263 266 323
Nalco / ATe® 213 230 232 245 298
Indal /g=sTel 43 44 44 50 65
Balco / Glewr a5 87 70 96 97
Walco /Ao 19 29 29 31 33

In which year was the total production of aluminium the lowest? / fog of # Qﬁﬁﬁ'ﬂﬂ PT IGY HH It fhar
T 41?

® 1999-00

® 2000-01

® 2001-02

® 2002-03
Correct Answer :-2001-02
24)

Question Stimulus :-

Force of friction is greater if / 90T ®T g 31fYe ST gla1 § Al

® Arough surface is involved / Th S& U¥ gferfera 33[ @

® A smooth surface is involved / T RH Y§ Tferfera €3f ar

e Both the surfaces are involved / IF} Hdag Iffferd gf ol

* Neither of the surfaces are involved / Gl & I ®Ig Ug Ifeafera I & af
Correct Answer :-A rough surface is involved / T S& U§ gferfera gt @t

25)

Question Stimulus :-
Find the minimum value that 2sec & can take if 0 = b < 90°, / af¢ 0 < 8 < 90°, di

2sec” &1 Frgaw A9 319 Y
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Correct Answer :-2

26)
Question Stimulus :-

The charge developed on an object when it is rubbed with suitable substances is called / ot ayd WX fowfa
3% 99 39 fpdl Iugad verd & A1y JST AT Haren

® positive charge / Y 3max

® negative charge / BUI 3agr

® dynamic charge /Tlﬁﬂfn'a 3TaeT
® static charge / fRR smaw

Correct Answer :-static charge / fRR 33

27)
Question Stimulus :-

Select the term which is related to the Silk industry ? / Feoee 3@“ Jq gafda Rlogq PT IIT W ?
e Horticulture. / 3N $fY
® Sericulture. / YIH DIy

® Floriculture. / Y& q)-ﬁ
® Agriculture. / q;ﬁ'
Correct Answer :-Sericulture. / ¥R HIeUTa

28)
Question Stimulus :-

The vertical angle of an isosceles triangle is 100°. Find its base. / T® W@EE ﬁ‘ﬁﬁ T IR BT 100° % ar
THDT TYR FTd B

(41)



® 45°45°
® 60°,20°
® 40° 40°
® 30°30°
Correct Answer :-40°, 40°

29)

Question Stimulus :-

Fossil fuels include / Siargq g?FT & 3fafa %
® Coal, petroleum and natural gas /aﬁwn, ﬁ'gﬁﬁnm 3T m kS|
® Only coal and petroleum / Fad HIadm iR ﬁ'@ﬁw
® Only petroleum and natural gas / Fad ﬁgﬁﬁmrn 3R tn?ﬁm T~

® Diesel ,petrol, and kerosene /é:]_\;ﬁf, a@ﬁ G'ﬁT ﬁl@ &1 dd
Correct Answer :-Coal, petroleum and natural gas /g, ﬂ@ﬁnm 3R uwﬁm ™~

30)
Question Stimulus :-

Select the CORRECT pair of insulators / ﬁg‘q?[-frfﬂu‘r P1 SUYdd \_rﬁ%pf T 19 Gy
® Water and metal / ST& Ud YTq
® Water and air / Wdl §d d1g
® Wool and iron / 3 'Qﬂ' Fﬁ?T

® Plastic and steel / Wi ® Td S

Correct Answer :-Water and air / S Ud 91
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